‘-ﬁ
RollRite Paris s Tars

S
&

Spool Kit. Hydra-Lock High Capacity 104"

Part Number: 36053


https://dev.rollrite.com/envalogenerateboms.php/catalog/product/view/id/1984/s/spool-kit-hydra-lock-high-capacity-104/

Spool Kit. Hydra-Lock High Capacity 104"

Roll-Rite.

Aftermarket Hesources

36053 Spool Kit, Hydra-Lock High Capacity 104" ‘

Bom ID |Part# Description gty
1 10180 Hydra-Lock Motor. 3 Year Warranty :S/N: 1
2 36172 Housing. 104" High Capacity Tarp Spool 1
3 31040 Axle. 103" Pre-ThreadedTarp Axle w/Stub Shaft 1
4 18710 Bolt. 5/8" x 1 1/2" Bolt Zinc 4
5 18414 Washer. 5/8" Flat Zinc 8
6 18635 Nut. 5/8" Nylock Nut 4
7 18260 Bolt. 5/16" x 5/8" Button Head Bolt - Zinc Plated 5
8 31050 Bearing. 3/4" Flanged Axle Bearing with bolts 1

www.RolIRiteParts.com | 650 Industrial Drive Gladwin, Ml 48624 | 800-297-9905



